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Resource Optimization Algorithm for Sparse Time�

Driven Sensor �etworks 
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1   Introduction 

%��time�driven����continuous monitoring�	��	������3��(	��!�

���!�������	�����������
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� �� reverse multicast� ���
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2   �etwork Planning Approach and Related Work 

2 �� ������
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��B������ � �
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����!�	� � �� ��
���� ��� ��!(��	� ��� ��� ���3������ �4� �� ����� ��� � �� ��
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:��� ��� 	�
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�����������!���� � ����3�	����
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3 ��������4�����	���3�4	������������ ����!(��������3��(��C		�������4��� ��� ������!���

���
�������� ��� � �	�� ��������!��� ������
	� �	� � ��� ��� �� Steiner tree with minimum 

number of Steiner points� 8
2.�
�9�� �� ������
� � ��� �	� (��3�� ��� ��� F�. �����

6�3�$�����	�	���������$���� ����!�	����� �	��3��(	��	�������3��(�!����!��$��4���� ���

� ������������
��8���
�	��� ������
�� �	���������4������		����4�!��	������������	
�		����

�����	������ ��	�.!������node degrees9��&4�!�����	����������3��(����������������! �

�����		�	� ��� � ���3��(� ������
�� ���� 
���
�7������ ��� � �� ��
���� ��� 
������� �����	�

8��	���!������
�7�����9��4�
���	����� �������3�����3��	����	G�

•  Elementary tree construction�� 2 �� !��	���!����� ��� ��� ���
�����4� ����.��� ������

�����!��	�	�	���������
��������	�������������� ���!����!�	�������������������4�����	�

8����	������!�����	����������	�9����� ��	��(��3�� ���$��3����
�/�
�7����� ��������
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���� ��	��	������3��(��%��� �	����!�		��3���		�
��� ���� �	������	� �$���������3���

!������� !��������4�3�� � � �� ���4� ��
��� ��� � ���� �3�� �����4� ��	���!�	� 8������49�� %��

�� ���3���	�� � �� ��(��4� �/�	���!����� ��
�/�
�
� ����	
�		���� ������ �	� �������� ���

� �	� 	������ #����� � �	� �		�
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����4	�	� � �� 3��(����� ��� �$��4� ����� ��� ��
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�
� �/������ �	�F�. ����� 2 ���� ��
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•  Placement of additional nodes�� %�� � �� !�	�� ��� 	���	�� �����4
���	�� � �� ����.
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3   Problem Motivation 

2 ��3��(����	���������� �	��������	� ���3�4����3����� ���3��	����	����� ���������4�
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3.2 Illustrative Example 
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4   Link Distance Reduction Algorithm 
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Qvv < �
���	�� ��� 9�89�8 judiud ≤ ��3�� �  vvu ��Q�� = ��  ji �+� = ����� uji ≠� ��
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•  =�����4�� No Cycle� ���� Lifetime Not Degraded� ���� �3�� 	���.�/��������4�
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�3��!��������	�	 ��������! �!(������� �	������9��

&�	��� ��� � �	�� ����������	�� � �� �	����.!���� ���� � �� ������� 
� !��� ��� 3������� �	�

�����3	G�

�
Link Distance Reduction Algorithm 
1 Set A; 

2 New State ← Initial State; {Initial State = Spanning tree 
obtained from SA} 

3 repeat 

4  Current State ← New State; 
5  Set B; 
6  for i = 1 to N do 

7   j ← 1; 
8   p*(B(i)) ← A(B(i), 1); 
9   while p*(B(i)) <> p(B(i)) do 
10    if (No Cycle == True) and (Lifetime Not Degraded 

== True) then 
11     p(B(i)) ← p*(B(i)) 
12    else 

13     j ← j+1; 
14     p*(B(i)) ← A(B(i), j); 
15    end if 
16   end while 
17  end for 
18 until New State == Current State 

�
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5   Simulation Results 

%�� ������ ��� $�������� � �� �����	��� ������� 
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���/��4�� 3�� ������
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�������� �/����
���	� �	���� � �� Mathematica�
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����� 3�� �	��� � �� $����	� ��� 	��	�!����� >�,�� C�! � 	�
��������

�/����
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•  Average link distance��=�����4�����.��� ������������� �	��	�� ��	�
�������(���	���!�	�

��$����� �4� � �� ��
���� ��� ����	� 8� ���� ���� �	�
��4� ���(	� �	� ����	9�� %�� ������ ���

����!�� � �� �
����� ��� ����������� ��	���!�	� � ��� !����� ��� ��5������� � �� ����� �	� ���
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•  Lifetime��2 �	��	�� �����3��(�������
���	���$����4�8)9��

•   umber of relay points��2 �	������	����� ����������
�����������4������	�8����	9�� ���
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